INEQUALITIES FOR THE DERIVATIVE AND POLAR DERIVATIVE OF LACUNARY POLYNOMIALS

NUTTAPONG ARUNRAT AND KEAITSUDA MANEERUK NAKPRASIT*

(Communicated by T. Burić)

Abstract. In this paper, we study lacunary polynomials of degree n having s-fold zeros at the origin and the remaining zeros lying on or outside the boundary of a prescribed disk. This study in turns gives generalizations and improvements of some well-known results. Besides, we also generalize as well as improves upon a result due to Aziz and Shah by extending it to the polar derivative.

1. Introduction and statement of results

If p(z) is a polynomial of degree *n* and p'(z) is its derivative, then

$$\max_{|z|=1} |p'(z)| \le n \max_{|z|=1} |p(z)|, \tag{1}$$

and

$$\max_{|z|=R>1} |p(z)| \le R^n \max_{|z|=1} |p(z)|.$$
(2)

Inequality (1) is a well-known result of S. Bernstein [6], whereas inequality (2) is a simple deduction from maximum modulus principle [14]. In both (1) and (2), equality holds only when p(z) is a constant multiple of z^n .

If we restrict ourselves to the class of polynomials of degree n having no zeros in |z| < 1, then

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{2} \max_{|z|=1} |p(z)|, \tag{3}$$

and

$$\max_{|z|=R>1} |p(z)| \leq \frac{R^n + 1}{2} \max_{|z|=1} |p(z)|.$$
(4)

Inequality (3) was conjectured by Erdős and latter verified by Lax [11], whereas Ankeny and Rivlin [1] used (3) to prove (4).

As an extension of (3), Malik [12] verified that if p(z) does not vanish in |z| < k, $k \ge 1$, then

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{1+k} \max_{|z|=1} |p(z)|.$$
(5)

Mathematics subject classification (2020): 30A10, 30C10, 30D15.

Keywords and phrases: Bound, derivative, maximum modulus, polar derivative, s-fold zeros.

^{*} Corresponding author.



Inequality (5) was further improved by Govil [9] under the same hypothesis to

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{1+k} \left[\max_{|z|=1} |p(z)| - \min_{|z|=k} |p(z)| \right].$$
(6)

Inequalities (5) and (6) are sharp for a polynomial $p(z) = (z+k)^n$.

Chan and Malik [8] considered the lacunary type of polynomials and proved that, if $p(z) = a_0 + \sum_{\nu=\mu}^n a_{\nu} z^{\nu}$, $1 \le \mu \le n$, $a_{\mu} \ne 0$, is a polynomial of degree *n* which does not vanish in $|z| \le k$, $k \ge 1$, then

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{1+k^{\mu}} \max_{|z|=1} |p(z)|.$$
(7)

Inequality (7) was improved by Pukhta [13] under the same hypothesis to

$$\max_{|z|=1} |p'(z)| \leq \frac{n}{1+k^{\mu}} \left[\max_{|z|=1} |p(z)| - \min_{|z|=k} |p(z)| \right].$$
(8)

Inequalities (7) and (8) are sharp for a polynomial $p(z) = (z^{\mu} + k^{\mu})^{n/\mu}$, where *n* is a multiple of μ .

As a generalization of inequality (5), Bidkham and Dewan [7] proved that if p(z) is a polynomial of degree *n* having no zeros in |z| < k, $k \ge 1$, then for $0 < r \le R \le k$,

$$\max_{|z|=R} |p'(z)| \leq \frac{n(R+k)^{n-1}}{(r+k)^n} \max_{|z|=r} |p(z)|.$$
(9)

As a generalization of inequalities (8) and (9), Aziz and Shah [5] proved that, if $p(z) = a_0 + \sum_{\nu=\mu}^n a_\nu z^\nu$, $1 \le \mu \le n$, $a_\mu \ne 0$, is a polynomial of degree *n* having no zeros in |z| < k, k > 0, then for $0 < r \le R \le k$,

$$\max_{|z|=R} |p'(z)| \leq \frac{nR^{\mu-1}(R^{\mu}+k^{\mu})^{\frac{n}{\mu}-1}}{(r^{\mu}+k^{\mu})^{\frac{n}{\mu}}} \left[\max_{|z|=r} |p(z)| - \min_{|z|=k} |p(z)| \right].$$
(10)

The result is best possible for a polynomial $p(z) = (z^{\mu} + k^{\mu})^{n/\mu}$, where *n* is a multiple of μ .

The polar derivative of a polynomial p(z) of degree *n* with respect to a complex number α , denoted by $D_{\alpha}p(z)$, is defined by

$$D_{\alpha}p(z) = np(z) + (\alpha - z)p'(z).$$

Note that $D_{\alpha}p(z)$ generalizes the derivative of a polynomial in the sense that

$$\lim_{\alpha\to\infty}\frac{D_{\alpha}p(z)}{\alpha}=p'(z).$$

The bounds of $|D_{\alpha}p(z)|$ have been studied by many researchers. For example, Aziz and Shah [3, 4] studied upper bounds of $\max_{|z|=1} |D_{\alpha}p(z)|$ where p(z) is a polynomial of degree *n* having no zeros in $|z| \leq k$, $k \geq 1$ and $\alpha \in \mathbb{C}$ with $|\alpha| \geq 1$. Arunrat and Nakprasit [2] studied an upper bound of $\max_{|z|=1} |D_{\alpha}p(z)|$ where p(z) is a polynomial of degree *n* which has some zeros in $|z| \leq 1$ and the remaining zeros are outside $|z| \leq k$, $k \geq 1$, and $\alpha \in \mathbb{C}$ with $|\alpha| \geq 1$.

In this paper, first we extend inequality (10) to the class of polynomials of degree n of type $p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_{\nu} z^{\nu} \right)$, $1 \le \mu \le n-s$, $0 \le s \le n-1$, and obtain the following theorem.

THEOREM 1. (Main) If
$$p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_\nu z^\nu \right)$$
, $1 \le \mu \le n-s$, $0 \le s \le 1$

n-1, is a polynomial of degree n having s-fold zeros at the origin and the remaining n-s zeros in $|z| \ge k$ where k > 0, then for $0 < r \le R \le k$,

$$\max_{|z|=R} |p'(z)| \leq \frac{A}{r^s} \max_{|z|=r} |p(z)| - \frac{A - sR^{s-1}}{k^s} \min_{|z|=k} |p(z)|,$$
(11)

where

$$A = \frac{R^{s-1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu} - 1}}{(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}}.$$

The result is best possible and equality holds for a polynomial $p(z) = z^{s}(z+k)^{n-s}$.

If we take $\mu = 1$ in Theorem 1, we get the following result which is an improvement of a result of Bidkham and Dewan [7].

COROLLARY 1. If
$$p(z) = z^s \left(a_0 + \sum_{\nu=1}^{n-s} a_\nu z^\nu \right)$$
, $0 \le s \le n-1$, is a polynomial of

degree *n* having *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge k$ where k > 0, then for $0 < r \le R \le k$,

$$\max_{|z|=R} |p'(z)| \leq \frac{R^{s-1}(nR+sk)(R+k)^{n-s-1}}{r^s(r+k)^{n-s}} \max_{|z|=r} |p(z)| -\frac{R^{s-1}(nR+sk)(R+k)^{n-s-1}-sR^{s-1}(r+k)^{n-s}}{k^s(r+k)^{n-s}} \min_{|z|=k} |p(z)|.$$

The result is best possible and equality holds for a polynomial $p(z) = z^{s}(z+k)^{n-s}$.

REMARK 1. (i) If we put s = 0 in Theorem 1, inequality (11) reduces to inequality (10).

(ii) If we put r = R = 1 in Theorem 1, then we get a result of Kumar and Lal (see Theorem 2 in [10]).

Next, we present theorem which is a generalization as well as an extension of Theorem 1 to the polar derivative.

THEOREM 2. (Main) If
$$p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_{\nu} z^{\nu} \right)$$
, $1 \le \mu \le n-s$, $0 \le s \le n-s$

n-1, is a polynomial of degree n having s-fold zeros at the origin and the remaining n-s zeros in $|z| \ge k$ where k > 0, then for every complex number α with $|\alpha| \ge R$ and $0 < r \le R \le k$,

$$\max_{|z|=R} |D_{\alpha}p(z)| \leq \left[\frac{|\alpha|A}{r^{s}} + \frac{(n-s)R^{s}k^{\mu}(R^{\mu}+k^{\mu})^{\frac{n-s}{\mu}-1}}{r^{s}(r^{\mu}+k^{\mu})^{\frac{n-s}{\mu}}} \right] \max_{|z|=r} |p(z)| \\ - \left[\frac{|\alpha|A - (|\alpha|s + (n-s)R)R^{s-1}}{k^{s}} + \frac{(n-s)R^{s}k^{\mu}(R^{\mu}+k^{\mu})^{\frac{n-s}{\mu}-1}}{k^{s}(r^{\mu}+k^{\mu})^{\frac{n-s}{\mu}}} \right] \min_{|z|=k} |p(z)|, \quad (12)$$

where

$$A = \frac{R^{s-1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu}-1}}{(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}}.$$

The result is best possible and equality holds for a polynomial $p(z) = z^s(z+k)^{n-s}$ where α is a real number with $\alpha \ge 1$.

REMARK 2. Dividing both sides of inequality (12) by $|\alpha|$ and letting $|\alpha| \to \infty$, we get inequality (11) in Theorem 1.

If we put s = 0 in Theorem 2, we get the following result which extends inequality (10) of Aziz and Shah [5] to the polar derivative.

COROLLARY 2. If $p(z) = a_0 + \sum_{\nu=\mu}^n a_\nu z^\nu$, $1 \le \mu \le n$, is a polynomial of degree n having no zeros in |z| < k, k > 0, then for every complex number α with $|\alpha| \ge R$ and $0 < r \le R \le k$,

$$\max_{|z|=R} |D_{\alpha}p(z)| \leq \frac{(n|\alpha|R^{\mu-1} + nk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n}{\mu} - 1}}{(r^{\mu} + k^{\mu})^{\frac{n}{\mu}}} \max_{|z|=r} |p(z)| - \left[\frac{(n|\alpha|R^{\mu-1} + nk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n}{\mu} - 1}}{(r^{\mu} + k^{\mu})^{\frac{n}{\mu}}} - n\right] \min_{|z|=k} |p(z)|.$$
(13)

REMARK 3. Dividing both sides of inequality (13) in Corollary 2 by $|\alpha|$ and letting $|\alpha| \rightarrow \infty$, we get inequality (10).

2. Lemmas

In this section, we present Lemmas which are use in the proofs of our theorems. The first lemma is due to Kumar and Lal [10].

LEMMA 1. [10] If
$$p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_\nu z^\nu \right)$$
, $1 \le \mu \le n-s$, $0 \le s \le n-1$,

is a polynomial of degree n having s-fold zeros at the origin and the remaining n-s zeros in $|z| \ge k$ where $k \ge 1$, then

$$\max_{|z|=1} |p'(z)| \leqslant \frac{n + sk^{\mu}}{1 + k^{\mu}} \max_{|z|=1} |p(z)| - \frac{(n-s)}{k^{s}(1 + k^{\mu})} \min_{|z|=k} |p(z)|.$$

Next, we apply Lemma 1 to prove the following lemma.

LEMMA 2. If $p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_\nu z^\nu \right)$, $1 \le \mu \le n-s$, $0 \le s \le n-1$, is a

polynomial of degree n having s-fold zeros at the origin and the remaining n-s zeros in $|z| \ge k$ where k > 0, then for $0 < r \le R \le k$,

$$\max_{|z|=r} |p(z)| \ge \left(\frac{r}{R}\right)^{s} \left(\frac{r^{\mu} + k^{\mu}}{R^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} \max_{|z|=R} |p(z)| + \left(\frac{r}{k}\right)^{s} \left[1 - \left(\frac{r^{\mu} + k^{\mu}}{R^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}}\right] \min_{|z|=k} |p(z)|.$$
(14)

The result is best possible and equality holds for a polynomial $p(z) = z^{s}(z+k)^{n-s}$.

Proof of Lemma 2. Since p(z) is a polynomial of degree *n* having *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge k$ where k > 0, for $0 < t \le k$, F(z) = p(tz) has *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge (k/t)$ where $(k/t) \ge 1$.

Applying Lemma 1 to a polynomial F(z), we get

$$\max_{|z|=1} |F'(z)| \leq \frac{n+s\left(\frac{k}{t}\right)^{\mu}}{1+\left(\frac{k}{t}\right)^{\mu}} \max_{|z|=1} |F(z)| - \frac{(n-s)}{\left(\frac{k}{t}\right)^{s} \left(1+\left(\frac{k}{t}\right)^{\mu}\right)} \min_{|z|=k/t} |F(z)|.$$

Therefore,

$$\max_{|z|=t} |p'(z)| \leq \frac{1}{t} \cdot \frac{nt^{\mu} + sk^{\mu}}{t^{\mu} + k^{\mu}} \max_{|z|=t} |p(z)| - \frac{(n-s)t^{\mu+s-1}}{k^s(t^{\mu} + k^{\mu})} \min_{|z|=k} |p(z)|.$$
(15)

Let $M(p,r) = \max_{|z|=r} |p(z)|$ and $m(p,k) = \min_{|z|=k} |p(z)|$. Then (15) is equivalent to

$$M(p',t) \leq \frac{1}{t} \cdot \frac{nt^{\mu} + sk^{\mu}}{t^{\mu} + k^{\mu}} M(p,t) - \frac{(n-s)t^{\mu+s-1}}{k^s(t^{\mu} + k^{\mu})} m(p,k).$$
(16)

Now for $0 < r \leq R \leq k$ and $0 \leq \theta < 2\pi$, we have

$$p(Re^{i\theta}) - p(re^{i\theta}) = \int_r^R e^{i\theta} p'(te^{i\theta}) dt.$$

Then $|p(Re^{i\theta})| \leq |p(re^{i\theta})| + \int_{r}^{R} |p'(te^{i\theta})| dt$, which implies that

$$M(p,R) \leqslant M(p,r) + \int_{r}^{R} M(p',t) dt.$$

Combining this inequality with (16), we obtain that

$$M(p,R) \leq M(p,r) + \int_{r}^{R} \left[\frac{nt^{\mu} + sk^{\mu}}{t(t^{\mu} + k^{\mu})} M(p,t) - \frac{(n-s)t^{\mu+s-1}}{k^{s}(t^{\mu} + k^{\mu})} m(p,k) \right] dt$$

or

$$M(p,R) \leq M(p,r) + \left[\int_{r}^{R} \frac{nt^{\mu} + sk^{\mu}}{t(t^{\mu} + k^{\mu})} M(p,t) dt - \int_{r}^{R} \frac{(n-s)t^{\mu+s-1}}{k^{s}(t^{\mu} + k^{\mu})} m(p,k) dt \right].$$
(17)

Let

$$\phi(R) = M(p,r) + \left[\int_{r}^{R} \frac{nt^{\mu} + sk^{\mu}}{t(t^{\mu} + k^{\mu})} M(p,t) dt - \int_{r}^{R} \frac{(n-s)t^{\mu+s-1}}{k^{s}(t^{\mu} + k^{\mu})} m(p,k) dt \right].$$

Then

$$\phi'(R) = \frac{nR^{\mu} + sk^{\mu}}{R(R^{\mu} + k^{\mu})} M(p, R) - \frac{(n - s)R^{\mu + s - 1}}{k^s(R^{\mu} + k^{\mu})} m(p, k)$$

Therefore, inequality (17) is equivalent to

$$\phi'(R) - \frac{(n-s)R^{\mu-1}}{R^{\mu} + k^{\mu}} \left[\left(1 + \frac{s(R^{\mu} + k^{\mu})}{(n-s)R^{\mu}} \right) \phi(R) - \frac{R^{s}}{k^{s}} m(p,k) \right] \leqslant 0.$$
(18)

Multiplying both sides of (18) by $R^{-s}(R^{\mu} + k^{\mu})^{\frac{-(n-s)}{\mu}}$, we get

$$\frac{d}{dR}\left[\left(\frac{1}{R^s}\phi(R) - \frac{1}{k^s}m(p,k)\right)(R^{\mu} + k^{\mu})^{\frac{-(n-s)}{\mu}}\right] \leqslant 0.$$
(19)

From (19), we conclude that

$$g(R) := \left(\frac{1}{R^s}\phi(R) - \frac{1}{k^s}m(p,k)\right) (R^{\mu} + k^{\mu})^{\frac{-(n-s)}{\mu}}$$

is a non-increasing function of *R* in (0,k). Hence for $0 < r \le R \le k$,

$$g(r) \geqslant g(R).$$

That is,

$$\left(\frac{1}{r^{s}}\phi(r) - \frac{1}{k^{s}}m(p,k)\right)(r^{\mu} + k^{\mu})^{\frac{-(n-s)}{\mu}} \ge \left(\frac{1}{R^{s}}\phi(R) - \frac{1}{k^{s}}m(p,k)\right)(R^{\mu} + k^{\mu})^{\frac{-(n-s)}{\mu}}.$$

Then

$$\phi(r) \ge \left(\frac{r}{R}\right)^s \left(\frac{r^\mu + k^\mu}{R^\mu + k^\mu}\right)^{\frac{n-s}{\mu}} \phi(R) + \left(\frac{r}{k}\right)^s \left[1 - \left(\frac{r^\mu + k^\mu}{R^\mu + k^\mu}\right)^{\frac{n-s}{\mu}}\right] m(p,k).$$
(20)

Since $\phi(R) \ge M(p,R)$ and $\phi(r) = M(p,r)$, it follows from (20) that

$$M(p,r) \ge \left(\frac{r}{R}\right)^s \left(\frac{r^{\mu} + k^{\mu}}{R^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} M(p,R) + \left(\frac{r}{k}\right)^s \left[1 - \left(\frac{r^{\mu} + k^{\mu}}{R^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}}\right] m(p,k).$$

Next, we show that the bound is best possible for a polynomial $p(z) = z^s(z+k)^{n-s}$. One can see that $\max_{|z|=r} |p(z)| = r^s(z+k)^{n-s}$, $\min_{|z|=k} |p(z)| = 0$, and $\max_{|z|=R} |p(z)| = R^s(R+k)^{n-s}$. The right side of (14) becomes

$$\left(\frac{r}{R}\right)^{s} \left(\frac{r+k}{R+k}\right)^{n-s} \left(R^{s}(R+k)^{n-s}\right) + \left(\frac{r}{k}\right)^{s} \left[1 - \left(\frac{r+k}{R+k}\right)^{n-s}\right] (0) = r^{s}(z+k)^{n-s},$$

which equals $\max_{|z|=r} |p(z)|$. \Box

The next lemma is due to Arunrat and Nakprasit [2].

LEMMA 3. [2] Let p(z) be a polynomial of degree n in the form

$$p(z) = z^{s} \left(a_{0} + \sum_{\nu=\mu}^{n-s} a_{\nu} z^{\nu} \right), \ 1 \le \mu \le n-s, \ 0 \le s \le n-1.$$

Let $k \ge 1$ *and* $\alpha \in \mathbb{C}$ *with* $|\alpha| \ge 1$ *. If all* n - s *zeros (except a zero at the origin) are outside* |z| < k, *then*

$$\max_{|z|=1} |D_{\alpha}p(z)| \leq \left[\frac{|\alpha|(n+sk^{\mu})+(n-s)k^{\mu}}{1+k^{\mu}}\right] \max_{|z|=1} |p(z)| - \left[\frac{(|\alpha|-1)(n-s)}{k^{s}(1+k^{\mu})}\right] \min_{|z|=k} |p(z)|.$$

3. Proofs of the main theorems

Proof of Theorem 1. Let p(z) be a polynomial of degree *n* having *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge k$ where k > 0. Then the polynomial F(z) = p(Rz) has *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge (k/R)$ where $(k/R) \ge 1$. Applying Lemma 1 to a polynomial F(z), we get

$$\max_{|z|=1} |F'(z)| \leq \frac{n+s\left(\frac{k}{R}\right)^{\mu}}{1+\left(\frac{k}{R}\right)^{\mu}} \max_{|z|=1} |F(z)| - \frac{(n-s)}{\left(\frac{k}{R}\right)^{s} \left(1+\left(\frac{k}{R}\right)^{\mu}\right)} \min_{|z|=k/R} |F(z)|.$$

Hence,

$$\max_{|z|=R} |p'(z)| \leq \frac{nR^{\mu} + sk^{\mu}}{R(R^{\mu} + k^{\mu})} \max_{|z|=R} |p(z)| - \frac{(n-s)R^{\mu+s-1}}{k^s(R^{\mu} + k^{\mu})} \min_{|z|=k} |p(z)|.$$
(21)

For $0 < r \leq R \leq k$, Lemma 2 implies that

$$\max_{|z|=R} |p(z)| \leq \left(\frac{R}{r}\right)^{s} \left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} \max_{|z|=r} |p(z)| - \left(\frac{R}{k}\right)^{s} \left[\left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} - 1\right] \min_{|z|=k} |p(z)|.$$
(22)

Substituting (22) into (21), we obtain that

$$\begin{split} \max_{|z|=R} |p'(z)| &\leqslant \frac{nR^{\mu} + sk^{\mu}}{R(R^{\mu} + k^{\mu})} \bigg[\left(\frac{R}{r}\right)^{s} \left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} \max_{|z|=r} |p(z)| \\ &- \left(\frac{R}{k}\right)^{s} \bigg[\left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} - 1 \bigg] \min_{|z|=k} |p(z)| \bigg] \\ &- \frac{(n-s)R^{\mu+s-1}}{k^{s}(R^{\mu} + k^{\mu})} \min_{|z|=k} |p(z)| \\ &= \frac{R^{s-1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu}-1}}{r^{s}(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}} \max_{|z|=r} |p(z)| \\ &- \frac{R^{s-1}}{k^{s}} \bigg[\frac{(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu}-1}}{(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}} - s \bigg] \min_{|z|=k} |p(z)|. \end{split}$$

Therefore,

$$\max_{|z|=R} |p'(z)| \leq \frac{A}{r^s} \max_{|z|=r} |p(z)| - \frac{A - sR^{s-1}}{k^s} \min_{|z|=k} |p(z)|,$$

where $A = \frac{R^{s-1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu}-1}}{(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}}.$

Next, we show that the upper bound is best possible for a polynomial $p(z) = z^{s}(z+k)^{n-s}$. One can see that $\max_{|z|=R} |nz^{s} + skz^{s-1}|$ and $\max_{|z|=R} |(z+k)^{n-s-1}|$ are attained at z = R.

Then
$$\max_{|z|=R} |p'(z)| = \max_{|z|=R} |(nz^s + skz^{s-1})(z+k)^{n-s-1}| = R^{s-1}(nR+sk)(R+k)^{n-s-1}$$

1394

and $\min_{|z|=k} |p(z)| = 0$. The right side of (11) becomes

$$\frac{R^{s-1}(nR+sk)(R+k)^{n-s-1}}{r^s(r+k)^{n-s}} \max_{|z|=r} |p(z)| -\frac{R^{s-1}}{k^s} \left[\frac{(nR+sk)(R+k)^{n-s-1}}{(r+k)^{n-s}} - s \right] \min_{|z|=k} |p(z)| = \frac{R^{s-1}(nR+sk)(R+k)^{n-s-1}}{r^s(r+k)^{n-s}} (r^s(r+k)^{n-s}) = R^{s-1}(nR+sk)(R+k)^{n-s-1}$$

which equals $\max_{|z|=R} |p'(z)|$. \Box

Proof of Theorem 2. Let p(z) be a polynomial of degree *n* having *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge k$ where k > 0. Then the polynomial F(z) = p(Rz) has *s*-fold zeros at the origin and the remaining n - s zeros in $|z| \ge (k/R)$ where $(k/R) \ge 1$. Applying Lemma 3 to a polynomial F(z) with $|\alpha|/R \ge 1$, we get

$$\begin{split} \max_{|z|=1} |D_{\frac{\alpha}{R}}F(z)| \leqslant \left[\frac{\frac{|\alpha|}{R} \left(n+s\left(\frac{k}{R}\right)^{\mu}\right) + (n-s)\left(\frac{k}{R}\right)^{\mu}}{1+\left(\frac{k}{R}\right)^{\mu}} \right] \max_{|z|=1} |F(z)| \\ & - \left[\frac{\left(\frac{|\alpha|}{R}-1\right)(n-s)}{\left(\frac{k}{R}\right)^{s} \left(1+\left(\frac{k}{R}\right)^{\mu}\right)} \right] \min_{|z|=k/R} |F(z)| \end{split}$$

Hence,

$$\max_{|z|=R} |D_{\alpha}p(z)| \leq \left[\frac{|\alpha|(nR^{\mu} + sk^{\mu}) + (n-s)Rk^{\mu}}{R(R^{\mu} + k^{\mu})} \right] \max_{|z|=R} |p(z)| - \left[\frac{(|\alpha| - R)(n-s)R^{\mu+s-1}}{k^{s}(R^{\mu} + k^{\mu})} \right] \min_{|z|=k} |p(z)|.$$
(23)

For $0 < r \leq R \leq k$, Lemma 2 implies that

$$\max_{|z|=R} |p(z)| \leq \left(\frac{R}{r}\right)^{s} \left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} \max_{|z|=r} |p(z)| - \left(\frac{R}{k}\right)^{s} \left[\left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}}\right)^{\frac{n-s}{\mu}} - 1\right] \min_{|z|=k} |p(z)|.$$
(24)

Substituting (24) into (23), we obtain that

$$\begin{split} \max_{|z|=R} |D_{\alpha}p(z)| &\leq \left[\frac{|\alpha|(nR^{\mu} + sk^{\mu}) + (n - s)Rk^{\mu}}{R(R^{\mu} + k^{\mu})} \right] \\ &\times \left[\left(\frac{R}{r} \right)^{s} \left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}} \right)^{\frac{n - s}{\mu}} \max_{|z| = r} |p(z)| \\ &- \left(\frac{R}{k} \right)^{s} \left[\left(\frac{R^{\mu} + k^{\mu}}{r^{\mu} + k^{\mu}} \right)^{\frac{n - s}{\mu}} - 1 \right] \min_{|z| = k} |p(z)| \right] \\ &- \left[\frac{(|\alpha| - R)(n - s)R^{\mu + s - 1}}{k^{s}(R^{\mu} + k^{\mu})} \right] \min_{|z| = k} |p(z)| \\ &= \left[\frac{|\alpha|R^{s - 1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n - s}{\mu} - 1}}{r^{s}(r^{\mu} + k^{\mu})^{\frac{n - s}{\mu} - 1}} \right] \max_{|z| = r} |p(z)| \\ &- \left[\frac{|\alpha|R^{s - 1}(nR^{\mu} + sk^{\mu})(R^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n - s}{\mu} - 1}}{k^{s}(r^{\mu} + k^{\mu})^{\frac{n - s}{\mu}}} \right] \max_{|z| = r} |p(z)| \\ &- \left[\frac{|\alpha|R^{s - 1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n - s}{\mu} - 1}}{k^{s}(r^{\mu} + k^{\mu})^{\frac{n - s}{\mu}}} - \frac{(s|\alpha| + (n - s)R)R^{s - 1}}{k^{s}} \right] \min_{|z| = k} |p(z)|. \end{split}$$

Therefore,

$$\begin{split} \max_{|z|=R} |D_{\alpha}p(z)| &\leq \left[\frac{|\alpha|A}{r^{s}} + \frac{(n-s)R^{s}k^{\mu}(R^{\mu}+k^{\mu})^{\frac{n-s}{\mu}-1}}{r^{s}(r^{\mu}+k^{\mu})^{\frac{n-s}{\mu}}} \right] \max_{|z|=r} |p(z)| \\ &- \left[\frac{|\alpha|A - (|\alpha|s + (n-s)R)R^{s-1}}{k^{s}} + \frac{(n-s)R^{s}k^{\mu}(R^{\mu}+k^{\mu})^{\frac{n-s}{\mu}-1}}{k^{s}(r^{\mu}+k^{\mu})^{\frac{n-s}{\mu}-1}} \right] \min_{|z|=k} |p(z)|, \end{split}$$

where

$$A = \frac{R^{s-1}(nR^{\mu} + sk^{\mu})(R^{\mu} + k^{\mu})^{\frac{n-s}{\mu}-1}}{(r^{\mu} + k^{\mu})^{\frac{n-s}{\mu}}}.$$

Next, we show that the upper bound is best possible for a polynomial $p(z) = z^s (z+k)^{n-s}$ where α is a real number with $\alpha \ge 1$.

One can see that
$$|D_{\alpha}p(z)| = |(z^s((n-s)k+\alpha n)+\alpha skz^{s-1})(z+k)^{n-s-1}|$$
.
Note that $(n-s)k+\alpha n > 0$ because $n,k,s \in \mathbb{Z}^+$ and $\alpha \in \mathbb{R}$ with $\alpha \ge 1$.

Then $\max_{|z|=R} |D_{\alpha}p(z)| = R^{s-1} [\alpha (nR+sk) + (n-s)Rk](R+k)^{n-s-1}.$

The right side of (12) becomes

$$\begin{bmatrix} \frac{\alpha R^{s-1} (nR+sk)(R+k)^{n-s-1} + (n-s)R^s k(R+k)^{n-s-1}}{r^s (r+k)^{n-s}} \end{bmatrix} (r^s (r+k)^{n-s})$$

= $R^{s-1} [\alpha (nR+sk) + (n-s)Rk] (R+k)^{n-s-1},$

which equals $\max_{|z|=R} |D_{\alpha}p(z)|$. \Box

4. Conclusion

This paper investigates an upper bound of the maximum modulus of the derivative of $p(z) = z^s \left(a_0 + \sum_{\nu=\mu}^{n-s} a_{\nu} z^{\nu} \right)$, $1 \le \mu \le n-s$, $0 \le s \le n-1$, having *s*-fold zeros at the origin and the remaining zeros lie in $|z| \ge k$ where k > 0. We generalize our upper bound to the polar derivative. In particular, if P(z) has all zeros in $|z| \ge k$, then our theorems generalize results by Aziz and Shah [5]. Furthermore, if $\mu = 1$, then we obtain a result which improves an upper bound due to Bidkham and Dewan [7].

Acknowledgements. This work has received a scholarship under the Research Fund for Supporting Lecturer to Admit High Potential Student to Study and Research on His Expert Program Year 2018 from the Graduate School, Khon Kaen University, Thailand (Grant no. 612JT217).

REFERENCES

- [1] N. C. ANKENY AND T. J. RIVLIN, On a theorem of S. Bernstein, Pacific J. Math., 5 (1955), 849–852.
- [2] N. ARUNRAT AND K. M. NAKPRASIT, Some inequalities for the polar derivative of some classes of polynomials, Songklanakarin J. Sci. Technol., 41, 5 (2019), 1192–1203.
- [3] A. AZIZ AND W. M. SHAH, Some inequalities for the polar derivative of a polynomial, Math. Sci., 107, 3 (1997), 263–270.
- [4] A. AZIZ AND W. M. SHAH, Inequalities for the polar derivative of a polynomial, Indian J. Pure. Appl. Math., 29, 2 (1998), 163–173.
- [5] A. AZIZ AND W. M. SHAH, *Inequalities for a polynomial and its derivative*, Math. Inequa. Appl., 7, 3 (2004), 379–391.
- [6] S. BERNSTEIN, Lecons Sur Les Propriétés extrémales et la meilleure approximation desfonctions analytiques d'une variable réele, Gauthier Villars, Paris, 1926.
- [7] M. BIDKHAM AND K. K. DEWAN, Inequalities for a polynomial and its derivative, J. Math. Anal. Appl., 166, (1992), 319–324.
- [8] T. N. CHAN AND M. A. MALIK, On Erdös Lax theorem, Proc. Indian Acad. Sci. (Math. Soc.), 92, 3 (1983), 191–193.
- [9] N. K. GOVIL, Some inequalities for derivatives of polynomials, J. Approx. Theory., 66, (1991), 29–35.
- [10] S. KUMAR AND R. LAL, Generalizations of some polynomial inequalities, Int. Electron. J. Pure Appl. Math., 3, 2 (2011), 111–117.
- [11] P. D. LAX, Proof of a conjecture of P. Erdös on the derivatives of a polynomial, Bull. Amer. Math. Soc., 50, (1944), 509–513.

- [12] M. A. MALIK, On the derivative of a polynomial, J. London Math. Soc., 1, (1969), 57-60.
- [13] M. S. PUKHTA, Extremal problems for polynomials and on location of zeros of polynomials, Ph. D. Thesis, Jamia Millia Islamia, New Delhi (1995).
- [14] M. RIEZE, Über einen Satz der Hern Serge Bernstein, Acta Math., 40, (1918), 337–347.

(Received March 4, 2021)

Nuttapong Arunrat Department of Mathematics Faculty of Science, Khon Kaen University 40002, Thailand e-mail: nutaru36@gmail.com

Keaitsuda Maneeruk Nakprasit Department of Mathematics Faculty of Science, Khon Kaen University 40002, Thailand e-mail: kmaneeruk@hotmail.com